
1.Select the correct mirror image of the

given combination when the mirror is

placed at MN as shown.

दिए गए संयोजन के सही िर्पण प्रदिदबंब का चयन

कीदजए जब िर्पण को MN र्र रखा जािा है, जैसा

दक दिखाया गया है।
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1.A is B's sister. C is B's mother. D is C's 

father. E is D's mother. Then, how is A 

related to D? 

A, B की बहन है।C, B कीमािा है।D, C का

दर्िा है।E, D कीमािा है। िो, A, D से दकस

प्रकार संबंदिि है?

(A)GRANDFATHER

(B)GRANDMOTHER

(C)DAUGHTER

(D)GRANDDAUGHTE

R



2.A is the brother  of B . C  is the 

mother of B . M is the sister of C 

. how is M related to B.

A, B काभाई है।C, B कीमािा है।M, 

C की बहन है।M, B से कैसे संबंदिि है?

A.NEPHEW 

B. NIECE

C. AUNT 

D. MOTHER



3.R is the daughter of Q. M is the 

sister of B who is the son of Q. how 

is M related to R?

R, Q की बेटी है।M, B की बहन है, जोQ 

का रु्त्र है।M, R से कैसे संबंदिि है?

A.COUSIN 

B.NIECE

C.SISTER

D.AUNT



4.M is  N’s brother . S is D’ s 

mother and M’s aunt . how is D 

related to M?

M , Nकाभाई है।S, D कीमााँ औरM

कीचाची है।D, M से दकसप्रकार

संबंदिि है?

A.SISTER 

B. COUSIN 

C. AUNT

D. MOTHER



5.P is father  of J. S is the mother  of N who is the brother 

of J . B is the son of S . C is the sister of B . 

how is J related to C. ?

P, J का दर्िा है।S, N कीमािा है, जो J काभाई है।B, S का रु्त्र है।C, 

B की बहन है।J, C से दकसप्रकार संबंदिि है?

A .DATA – INADEQUATE 

B. COUSIN 

C. BROTHER

D. SISTER



6.J is sister of T. T is married to D .D is father of R .M is 

son of H. T is the mother in law of H .D has only one son 

and no daughter . J is married to B. L is daughter of B.

J, T की बहन है। T, D से दििादहि है।D, R का दर्िा है।M, H का रु्त्र

है। T, H कीसास है।D का केिलएक रु्त्र हैऔरकोई रु्त्री नही ंहै। J, 

B से दििादहि है। L, B की रु्त्री है।

How is L related to T?

(A) NIECE

(B) SISTER

(C) C.N.D.

(D) DAUGHTER



7.Some persons related to each other were going in a bus. When asked 

about their relationships, following were their replies: Soni says ‘Anshu is 

my grandmother and Joan is my paternal uncle’. Clay says ‘Nikki is my wife 

and Manav is my father in law’. Nikki says ‘babu is my father in law and 

Soni is my daughter’. Reet says ‘Soni is my granddaughter and Nikki is my 

daughter in law’.

How many male members  are there in the family?

बसमेंआर्समें जुडे कुछलोगजा रहे थे। उनके ररश्ोंके बारे में रू्छे जाने र्र, उनकेजिाब

दनम्नदलखखि थे: सोनीकहिे हैं, 'अंशु मेरी िािी हैं औरजोन मेरे चाचा हैं'। के्लकाकहना है दक

'दनक्की मेरी र्त्नी हैऔरमानि मेरे ससुर हैं'। दनक्कीकहिी है, 'बाबू मेरे ससुर हैं औरसोनी

मेरी बेटी'। रीिकहिी है 'सोनी मेरी र्ोिी हैऔर दनक्की मेरी बहू है’।

र्ररिार में दकिने रु्रुषसिस्यहैं?

A. TWO

B. THREE 

C. FOUR 

D. FIVE 



8.Cheenu has a family of eight members. Bablu is the eldest male 

member of the family. Haryali is the daughter-in-law of Neelu and 

sister-in-law of Sonu and Anku. Apart from Cheenu and bablu, only 

Sonu is a male member of the family. Anku is the aunt of Cheenu’s

two daughters Saba and Daya. . 

How is Daya related to Sonu?

चीनूकाआठसिस्योंका र्ररिार है। बबलू र्ररिारका सबसे बडा रु्रुषसिस्य है।

हररयाली नीलूकी बहूऔरसोनूऔर अंकूकीसाली है। चीनूऔर बबलू केअलािा, 

केिलसोनू ही र्ररिारका रु्रुषसिस्य है। अंकू चीनूकी िो बेदटयो ंसबाऔरियाकी

मौसी है। . 

ियाकासोनू सेक्या संबंि है?

A. GRANDMOTHER

B. NIECE 

C. MOTHER

D. AUNT 



8.Q is father of A and B. X is mother of K, N is son of A. N is the 

only brother of K. X is daughter-in-law of P. P has only one daughter 

and one son.

Which of the following needs to be true to establish that K is 

daughter of X?

Q, A औरB का दर्िा है।X, K कीमािा है, N, A का रु्त्र है।N, K का इकलौिा भाई

है।X, P की बहू है।P की केिल एक बेटीऔर एक रु्त्र है।

K, X की बेटी है, यह स्थादर्िकरने के दलए दनम्नदलखखिमें से कौनसासत्यहोना

चादहए?

A. B IS UNMARRIED

B. X HAS ONLY ONE SON 

C. N IS GRANDSON OF Q 

D. NO EXTRA INFORMATION IS REQUIRED 



9.A,B,C and D are four males who are married to four females 

namely P,Q,R and S not necessarily in the same order. U,W,X,Y

and Z are five children who belong to these four couples. B is 

married to S, who does not have any child. U is the only son of 

Q, who is not married to A. W and X are siblings and are of 

different genders. C is the father of two children. Y is the 

daughter of R, who does not have any other child. A has one 

daughter X. Z is the sister of U.

How many boys are there in the group of children? 

A,B,C औरD चार रु्रुष हैं, दजनका दििाह चार मदहलाओंP,Q,R औरS से

हुआहै, जरूरीनही ंदक इसीक्रममें हो।ंU, W, X, Y और Z र्ांच बचे्च हैं जो इन

चारजोडो ं से संबंदिि हैं।B, S से दििादहि है, दजसकीकोई संिान नही ंहै।U, 

Qका इकलौिा रु्त्र है, जोA से दििादहिनही ंहै।W औरX भाई-बहनहैंऔर

दिदभन्न दलंगो ं के हैं।C िो बच्चोंका दर्िा है।Y, R की रु्त्री है, दजसकीकोईअन्य

संिान नही ंहै।A की एक रु्त्रीX है। Z, U कीबहन है

बच्चोंके समूह में दकिने लडके हैं?

A. 1

B. 2

C. 3 

D. 4 



10.G is the mother of F, who is the spouse of D. M is the daughter of D, who 

is the only brother of C. E is the son of G, who is married to H. A is the 

niece of C, who has no sister. T is the father of D and has no daughter. V is 

the sister-in-law of F. G has only two children. M is the granddaughter of O.

How many female members are there in the family?

G, F कीमािा है, जोD की र्त्नी है।M, D की रु्त्री है, जोC का इकलौिा भाई है।E, G का

रु्त्र है, जोH से दििादहि है।A, C कीभिीजी है, जोकोई बहननही ंहै। T, D का दर्िा हैऔर

उसकीकोई रु्त्री नही ंहै।V, F की दसस्टर-इन-लॉ है।G के केिलिो बचे्च हैं।M, O की र्ोिी

है

र्ररिार में दकिनी मदहलासिस्यहैं? ।

(A) 7

( B) 4

( C) 5 

(D) 6 



THAN

K 

YOU 


